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) Read the P2
-natives.

. people watch the ‘b

47.What do children of some countries do more

than studying and sleeping?
(1) playing with friends (2) relaxing at home
(3) watching television (4) fighting with each other

48. What do the reports of many studies reveal?
(1) Peopleare becoming fat always sitting In front of
the TV
(2) People are neglecting 1
(3) People become mor
programmes
(4) People are wa

19. ‘Boob-tube’, means
(1) A programme
(3) Television

20. The worst effect of Television is that it
(1) effects their mind viclently

(2) can be very boring
(3) makes people addicted to it

(4) is making people lazy
Directions (Q.Nos. 21 and 22) Choose the
most appropriate response out of four
choices given after each question.
21. The word ‘Baneful’ means
(1) Loss (2) Evil (3) Profit ~ (4) Benefit

22. The word opposite in meaning to 'Perilous’ is
(1) Safe (2) Hybrid  (3) Descent (4) Lament

heir work because of TV
e violent after certain

tching all the programmes

(2) A colour tube
(4) Telephone

word for the following words/ sentences.
23. A person who regards the whole world as his

country
(1) Cosmopoﬁtan (2) Nationalist
(3) Patriot (4) Metropolitan

a7 11 Engl

ssage careful

1d. On the other

for more hou

Directions (Q.Nos. 23 and 24) Give one

ish
ly and choose the pest answer to

t can increase

3 t the watch. I
St 3xr'ious disadvantages of
of six hours 0T more a day.
' Ise including

amines,

televisl » F o
]dren stare at television scre
t negative effect of the television MIE ep - onsulting .
T]‘]‘lesm'l(‘)jlevisfi;on can be useful to people 24. A person fwﬁﬁe?:les witho
- - - 0
(1) if they become violent opinion Oat 2 ap—
(2) ifthey follow only @ particular programme (1) DemocrC ' @ Fanatic
(3) ifthey get addicted to it ] 5 (3) Buread
4) if they carefully choose the shows that they walc
hat Directions (Q.Nos. 95 and 26) In the
improve the part

following sentences
printed in bold, if needed.

25, If | were you, I would report the m

once.

(1) be

(2) am

(3) was

(4) No improvement _
26.He could not be able to think logically

because of his illness.
(1) can not be
) was not

(2
23; had not
4) No improvement

atter at

Du_-ect:ions (Q.Nos. 27 and 28) Find out
which part of a sentence has an error. If a
sentence is error free, mark (4) as your
answer.
27. She is the best (1)/ and beautiful girl (2)/ of
our village.(3)/ No error(4)

28. Some people get (1)/ use
: to changes very
easily (2)/ than others do.(3)/ No error(4)

29. Fill in the blank with suitable prepositiort.
She was fined .... coming late.

(to (2) for (3) in (4) at
30. Identify the synon i

ona ynonym of the given vsllord.

(1) Stab

(2) Slaughter

(3) Murder

(4) Assassinate
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